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SECTION - II
MATHEMATICS

26. If 25% of 780 = M% of 1950 then ‘M’ = ?
(1) 10 2) 12
(3) 8 4) 14

27. If L.C.M. of two consecutive even numbers is 312, then what will be the sum

of these two numbers?

(1) 48 (2) 46
(3) 52 4) 50
28.  All points shown on the given number-line are at equal distances.
I(UR) — /(QT) = ?
P Q R S T U
" - ; — 1 —
8
(1) IRS) (2) (TU)
(3) IQR) 4 «SQ)

29. Five years ago, mother’s age was twice her daughter’s age. If the ratio of
their present ages is 11:6, then what will be the difference in their ages
(in years) five years hence.
(1) 20 (2) 25
3) 30 4) 35

30, Ifa+b=13and ab = 36 then a? + b2 = 2
(1) 169 (2) 8l
3) 97 4) 16

SPACE FOR ROUGH WORK

0811-Kannada Set-A 8 of 32 Contd...



26.

27.

28.

29.

30.

AN - 11
ness

780 3 25% = 1950 3 M% 233 ‘M’ = @), ?

(1) 10 Q) 12
3) 8 4 14
TR BRRNAZ BoBNY ©.7.Q. 312 33T, & Fogne edwd R, BROTTOT?
(1) 48 (2) 46
(3) 52 4) 50

FINT o209, BeO HoeIT 2Q WOTINYY IRNT ©0STHYES.
T3 [(UR) — (QT) = &2

P Q R S T U

< } } _Il } } } } } } } } } } ll } } >
8

(1) IRS) (2) [TU)

(3) UQR) 4 1(SQ)

DT DAY DSBS, WOWSDH BoHR, FNY DT VBRI @3
Q00F RS OEReIT 11:6 2T 03 IRENE 5030 Be8 BoDRMEAD
R o), TR DRI

(1) 20 2) 25
3) 30 @) 35
a+b=133a3 ab =36 933 a> + b* = ?
(1) 169 @ 8l
3) 97 @) 16

FeSO T2 FOTTN

0811-Kannada Set-A 9 o0f 32 P.T.O.

]
4
N

NG

7

7N

]

a7

NS

NG

NZANZANZAINZANZANAS

B3



WA
]

31. Which of the two options given below are incorrect statements?
(1) All integers are not real numbers.
(2) Some rational numbers are integers.
(3) All rational numbers are integers.
(4) Some integers are not whole numbers.

32. Following table shows the subjectwise marks scored by a student in a summative

test. Find the average marks.

@g Subjects | Marathi Hindi Maths Science | Social Science
Marks 32 36 48 44 40
(1) 40 (2) 38
(3) 42 4) 36
33. In the adjoining figure, P S
. J ; © /A R\ /7' B\
line AB || line CD and < F >

mZRGC = 50°, then find

mZSFA — mZPEA =7

(1) 50° 2) 80°

3) 100° @) 130° c G H Do

34. 4b-2a+5-3b-9+5—4+3b-2a=2
(1) 4b + 9a — 4 (2) 2a + 4b — 8
(3) a—4b -8 4) a+4b — 8

35. What will be the difference in rupees in the simple interest and the compound
interest earned on Rs. 5000 in 2 years at the rate 5 p.c.p.a.?
(1) 125 2) 25
3) 375 (4) 50

SPACE FOR ROUGH WORK
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QRO 0T %08 ness Bk 3593,
RO 32 36 48 44 40
(1) 40 (2) 38
(3) 42 “4) 36

WOOD SBINY Texk AB || SR
CD &3 mLRGC = 50° g3
m/SFA — m/PEA = 9

(1) 50° () 80° 6
(3) 100° (4) 130°

4b —2a+5-3b -9+ 5a-4+3b-2a=R?

(1) 4b + 9a — 4 2) 2a + 4b — 8

(3) a—4b -8 4) a+ 4b — 8

B.2.3.3. 5 30003 5000 Te. NY 2 TIRFT ITIWE, [0 WEWRNTY, SO
S s
(1) 12.5 2».
3) 37.5 dn.

2) 25 Tw.
4) 50 Tw.
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36.

37.

38.

39.

40.

Average weight of Siya and Nisha is 29 kg. Average weight of Fiza and Siya
is 26 kg. If the total weight of Nisha and Fiza is 50 kg., what will be the
maximum weight (in kg.) amongst the three girls?

(1) 25 (2) 28

(3) 30 4) 34

A work is completed by some workers in a few days. If the number of workers
1s made %rd times the original number of workers, then how many times will

be the days required to be increased than the original to complete the same

work?
1 3 @ 15
3 & @ 3

Length of the longest chord of a circle is 7 m. What will be the length of
the parallel chord to it, at a distance of 2.1 m.?

(1) 2.8 m. (2) 5.6 m.
(3) 4.2 m. (4) 3.5 m.
If 163 = 4% : then k = ?
() 1 (2) 6
3) 12 4 17
In the adjoining figure, LIEFGH is a rhombus
with diagonal 28cm. and vertices are on the E F
circle with centre ‘O’. Find the area of the
shaded region. O
(1) 56 sq.cm. (2) 112 sq.cm.
(3) 105 sq.cm. (4) 210 sq.cm.
H G

SPACE FOR ROUGH WORK
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A= W
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WO ©8 80309030 [ EFGH 3IToyow
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41.

42.
N

43.

44.

Which of the following two alternatives are perfect cube numbers?

(1) 0.0270 (2) (-0.000625)
(3) (-13.310) (4) 0.0729
By how much is the greatest of the following numbers is greater than the
smallest of the given numbers. %, %,%,g,%
5 1
M 17 2 3¢
2 1
3 15 @ 2

‘Diagonals of the are perpendicular bisectors of each other.’

Choose the correct alternative from given options to complete the above statement.
(A) Rectangle

(B) Square

(C) Rhombus

(D) Parallelogram

(E) Kite

(1) Only A and B (2) Only B and C
(3) Only B, C and E (4) Only A, B and E

Observe the two planes X and Y shown in the

diagram and select ‘two correct’ statements from

given.

(1) Points F, B and C are belonging to
different planes.

(2) A line is formed where two planes intersect.

(3) Point A, G and E are non-collinear points
lying in the same plane.

(4) Two planes are parallel to each other. v B

SPACE FOR ROUGH WORK
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45.

46.

47.

48.

Spandan purchased two articles each for Rs. 3750 when 8% discount was
declared. How many rupees should he pay to the seller for this purchase?

(1) 7200 (2) 3450
(3) 6900 (4) 8100
In the adjoining figure of AEFG, E

point H is the mid-point of the seg FG.
If mZEFH = 45° and

I(EF) = (EG) = 10y2 cm,,

then /(EH) = ? cm.

45°

(1) 1042 @) 10 F H G
(3) 20 4) 2042
[(m +9) (m = 5)] - [(m - 8) (m + 4)] =?
(D) (8m — 13) (2) (m -5)
3) (m — 4y 4 (m + 77)
Height of the trapezium PQRS
shown in the adjoining figure P . S
is 8 cm. seg ST = seg PS and '
I(PQ) = I(SR) = 17cm.
Then find the perimeter of & 8 cm. -
[LJPQRS in cm. Q
(1) 80 (2) 96

Q T R
(3) 88 4) 72

SPACE FOR ROUGH WORK
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48.
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(1) 7200 (2) 3450
(3) 6900 (4) 8100

OB SFE0NY AEFG T, 20T

H 2@ Sed FG o R0508> 93 B
WOTD =eS

m/EFH = 45° 2023
I(EF) = [(EG) = 1042 Zo.cw¢ 930
I(EH) = o@D, F0.00e?

45°

F G

(1) 1042 @ 10 H
(3) 20 4) 202
[(m + 9) (m — 5)] — [(m — 8) (m + 4)] = 2F?
(1) (Bm - 13) (2) (m-5)
(3) (m - 4y (4) (m + 77)
WD Aow PEeeS PQRS
o o033 8 F0.0e V¥T. Ted P , S
ST = Bead PS =023
I(PQ) = ISR) = 17 Fo.qe s 8 om. |
233 LIPQRS & Zoaod o), >
F0.500 STORTO?

Q T R
(1) 80 2) 96
(3) 88 4) 72
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49. What is the compound interest (in rupees) for Rs. 10000 for two years six
months, at the rate of 10 p.c.p.a.?

(1) 2650 (2) 3310

(3) 2500 (4) 2705
[ [ -

n B @ L+

@ 1-14 @ P

51.  Surface area of a sphere is 616 sq.cm. Which of the following is an incorrect
alternative related to the sphere with double the radius of that sphere?

(1) Surface area will be 2464 sq.cm.

(2) Surface area will be 1232 sq.cm.

(3) Surface area will increase by 1848 sq.cm. than first sphere.

(4) Surface area will be four times the surface area of first sphere.

52.  Anjurani weighed an object and noted it’s weight in four different ways as

given below. Which two alternatives from the given, denote the same weight?
(1) 12 kg. 175 deca gm. (2) 13 kg. 75 gm.
(3) 121 hecto gm. 75 deca gm. (4) 135 hecto gm. 250 gm.

53. Side of the adjoining square MNOP is
18 cm. Points ‘X’ and ‘Y’ are the midpoints
of the sides MP and NO respectively. Find
the area of the shaded region.

(1) 324 sq.cm. (2) 162 sq.cm.
(3) 81 sq.cm. (4) 243 sq.cm.

SPACE FOR ROUGH WORK
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49.

50.

51.

52.

53.

B.8. B.3. 10 T80T 10,000 TRTOWNY 2 SR 6 SoMSONY 3BT TRIREO?

(1) 2650 (2) 3310
(3) 2500 (4) 2705
1+P 1-P o
I I el B
1 P @ L+
@ 1 @ 1oF

2ot RReB JFPO 616 P.Fo.o0e VB BTT AR G, TR DOBHOD
Reeod FRFOT Wi Wi OIS 0IRPT?

(1) T@Pe 2464 P.%0.00 ATV,

2) TRPe 1232 @P.F0.00 AVWD.

(3) BRTOBoD Reed OB, BFFOF) 1848 wP.Zo0.qd¢ émwrbdda.

(4) HeBoID RRT FRFPOT BOBOD LY Bed), B[

WOWITIES 2,070 TAQVD TETINE BT, T, TOIRFODNTY, 2ITH WOQoD
033933 DT TOIRFCING BRT ARIINT?

(1) 12 8.m 0 175 &% ™ 0 (2) 13 8., 0 75 ™, 0

(3) 121 @BRE My 0 75 W Mo, O (4) 135 B¢ My ;0 250 My [0
WA WPTI MNOP 03 4o 1830.80¢ AT 90T
X B Y o9 @33 P MP &3 NO ¢
TG, WWOTD NYRNES. TMTT Testo0se LRNG ST
R, 1.Fo0e ATRYTO?

(1) 324 (2) 162

(3) 81 (4) 243
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54.

5S.

56.

57.

58.

[(16xy+4y2+16x2) LGyt
(16> —4?) | 1(4x=2)
1 2) 0
3) 2 + dx (4) 4x — 2y

A square shaped compound of a temple has side 40m. On each side of the
compound, triangular gardens of side equal to that of the side of the compound
are there. What will be the total cost of 5 rounds of wire fencing for protection
from their outer edges only, for all the gardens, at the rate of Rs. 80 per m

of wire?
(1) < 256000 (2) < 160000
(3) < 512000 (4) < 128000

Rs. 9700 are invested in the bank with simple interest at the rate of 5 p.c.p.a.
To get the same amount that will be received in 4 years in 2% years only,
by how much should the rate of interest needs to be increased?

(1) 8% Q) 5%
(3) 3% 4) 2.5%

If (x—y)? =49 and (x+y)? = 169 then find (4xy) = ?

(1) 30 (2) 60

3) 90 4) 120

All the vertices of a triangle are on the circumference of the circle at equal

distances from each other and at a distance of 14 cm. from the centre of the
circle. What will be the length of the median of that triangle?

(1) 7 cm. (2) 14 cm.
3) 21 cm. (4) 28 cm.

SPACE FOR ROUGH WORK
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54.

5S.

56.

57.

58.

(lexy+4y*+16x*) | [@v+40)]|
[ (16X2 _ 4y2) ) (4X_2y) N QD%\%&?
(1 1 2 0
3) 2y + 4x (4) 4x — 2y

2080 @ooNTE PTWTE BOITT Go® 400¢ T, ¥ B3CIROW) wazsés
BRODEROTD SEPRTR, FRNT GHBRTIT SERETTB0DH BRTRWNT. KT FeJ
20T FOTFTMON T BHEOS F080I zﬁe@oﬁo@% TOBERNT. 30803 W3S 80TR.

TS Q0ee3T <ac§§3 2,830, @d% TR. ANIDFNRITY)?
(1) 256000 (2) 160000
(3) 512000 (4) 128000

0¥ wREINGROZ B.3. B3¢ 5 TCOOD 9700 Se. MRy 4 BIFAY TwowN
TR0, B A, Beo BRSCIVTHRE ¢85, BeoT), 25 BT, BHCITTS
VRO TORY, ), T, WRTEICTNITED?

(1) 8% 2) 5%

3) 3% 4) 2.5%

-y = 49 B2 (x+)? = 169 233 (4ry) = 22
(1) 30 (2) 60
(3) 90 4) 120

2,00 83033 TXF dTRe0TINH [EFPs ToPT FH0ed TRNT 03TYR
@) ®2FY FeoT 0T 14 F0.80e ©oBTTRAY VW0 B0eoT & GIREIT WG
SR, Fo.qwe JTRE?

(1) 7 (2) 14

(3) 21 4) 28

FeSO T2 FOTTN
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59.

60.

61.

62.

63.

Which of the two alternative expressions from the given are perfect squares?
1) (¥ -2 + x7? (2) (4m2 - 16n? — 16)
(3) (25p% + 369 — 30pq) (4) (64ab + 64a% + 16b2)

What will be the eighth odd number after the even number (3x — 5) ?

(1) (GBx - 22) 2) (Bx - 13)

(3) (B3x + 10) 4 (@Bx + 3)

While selling an article, if Raghav increased its selling price by Rs. 384 he

will have 5% profit instead of 3% loss. What should be the original price of
the article?

(1) 19200 (2) X 12800
(3) < 7680 (4) < 4800
Two triangles are formed by diagonal BD A

of kite ABCD as shown in the figure.
Which test from the following is not

applicable for proving these two triangles B E N D
congruent?

(1) S-A-S

2) S-S-S ¢

3) A-S-A

(4) Hypotenuse-side

Rafig has Rs. 28,500 with him in the form of some I 2000 notes and some
< 500 notes only. Which of the following could be the number of I 500 notes?

(1) 57 (2) 25
(3) 23 4) 11

SPACE FOR ROUGH WORK
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59.

60.

61.

62.

63.

FENT TOFODNSE). 03933 DT TSN TREFF WNFNEI?

D (2 -2+x? (2) (4m? - 16n? — 16)

(3) (25p% + 364 — 30pq) (4) (64ab + 64a% + 16b?)

(3x — 5) 85 RP0ag 0 0T FoeweN LTI DOLIVOD VIR B0 IRFTHO?
(1) (3x — 22) ) (3x — 13)

(3) (3x + 10) 4) (3x + 3)

TOPTD 20T A BT VRN 003 IS0 384 Tp. NPT BN
3% TOR0D WIOR 5% Y TROBT 83 APoNn #0e0B 3 TINNT TR

IS =2

(1) 19200 ) 12800
3) 7680 4) 4800
Wk @3 8wo9ed [ ABCD A

Teomg 8oy, For BD Qow
S03RTIMIT DTED GBACINE 0303

- - B - D
TOERSD ATmN BART OROY? E

(1) -gre-2H

@) - :

(3) Bre-gh-3nre

(4) Beor-hw

OB RET 28,500 TR. NEB. ©Es BT FOTY IVBEIAIT W FOF) I
Lo 0B TFIOT BRetdNVE. HMES NS IR, SReednd Zoa NS

TOIRE CINTY, ST BTTR)?
(1) 57 (2) 25
(3) 23 4) 11
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64.

65.

66.

67.

68.

If 1—%=% then ‘k’ = ?
(1) 9 2) V16
3) 16 4 9

Area of the square hall with height 4 m. is 49 sq.m. What will be the total
cost (in rupees) of colouring all the walls of that hall at the rate of Rs. 300

per sq.m.?
(1) 11200 (2) 74000
(3) 33600 (4) 42000

In a transaction, if the selling price is four times the loss, then what is the

percentage loss to the seller?
(1) 20 (2) 25
1

3) 125 @ 1q

The conical tent with height 21 m. has base circumference 176 m. How much
air (in cubic m.) can be contained in that tent?

(1) 17248 (2) 2464
(3) 7840 (4) 15680

How many shares of Rs. 500 each, did Pari purchased, if she spends Rs. 46350

with 3% commission?
(1) 95 (2) 90 '
(3) 8l 4) 87

SPACE FOR ROUGH WORK
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64.

6S.

66.

67.

68.

/1—%=% 933k’ = &2
(1) 9? 2 16
(3) 16 “4) 9

4 0e. HFTNTOR 2,080 PTTE FPNTE FEFFO 49 1P.0e. VW, S NPREA
D REENIR e, 3RWR LN 300 TR. B P.Q0eT TOBOZ Ledd), R,

S TORRO?

(1) 11200 (2) 74000

(3) 33600 (4) 42000

TR0 TLY, Ted), WRTS VWX FRTIORQ, BRTLMWIIT ST Sevwd

TR AT?
(1) 20 2) 25

(3) 12.5 4) 1%

2,003 Boad 838 B0 T 21 Qe BT BYE FOF 176 Q¢ VT & 00OINT
FOODY, AT, HF WeeIT BeS BooWLD LWTRED?

(1) 17248 (2) 2464

(3) 7840 (4) 15680

B8 500 Se. IS0 JwRE VOO WREEER T 1 3% TR IF 46350 Tw.
SDF 200B). TIMTT LR W), WA 0D BRETWBIT?

(1) 95 2) 90

(3) 81 4) 87
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69.

70.

71.

72.

73.

A side of a square is congruent to the 30 cm. diagonal of second square. Select

an incorrect alternative from the given, for the relation between the areas of

two squares.

(1) Areas of both the squares are not equal.

(2) Area of the second square is half that of the first square.

(3) Area of the first square is more by 900 sq.m. than the other square.

(4) Area of the second square is less by 450 sq.m. than the area of the first
square.

In the adjoining circle with centre C, P
mZ/PRS = 55° ; then m/PSQ = ? Q

(1) 55°

(2) 40°

(3) 45°

4) 35° Rv S

An obtuse angle is formed between the hour hand and minute hand of a clock.

Which two alternatives from the following will correctly represent the possible time?
(1) 1:20 hrs. (2) 11:40 hrs.
(3) 4:05 hrs. (4) 8:55 hrs.

Ratio of the lengths of the diagonals of a 20 cm. sided rhombus is 3:4. What
will be the area in sq.cm. of that rhombus?

(1) 768 (2) 384

(3) 192 4) 96

After reading 3 ¢, part and 68 pages of a book, 92 pages are still remaining.
What is the total number of pages of that book?
(1) 360 (2) 280
(3) 153 4) 117

SPACE FOR ROUGH WORK
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69.

70.

71.

72.

73.

WOT WPTAT LT VT AVBRCD PTIT 30 F0.600¢ S0 ésar§ QBTRTRT.
TGS & TR PO EBFOT Wil o3RRS &3@35&3{ TOIRFORNPOT

e:?oﬁazs [PRO.
(1) TR L PTANS FEBHFO Fnw B,

(2) QTBZEOD z@d:o% 3B SATORD WPTIT FPTOT WF T, 3.

(3) HeBoBod WTIT FEFTOP) HTBSCDL PTIEEE 900 23.Fo.a0e Ted), AT.

(4) STBEICD WPTIT FEFORP) [RBO[D WPTIT FFHPsoe 450 1P.Fo.q0e.
3R ATV.

WACH ‘C FeoTROTONTITI P

533%‘%35@0 m/ZPRS = 55° “&d@@ m/PSQ = ebd%? Q

(1) 55°

(2) 40°

(3) 45° R S

(4) 35°

NROINTTHY, FHATOINLY &Y AWHRT R0y S@H VToUBReTRNN HTE

TORFODNRE BRSO

(1) 1:20 (2) 11:40

(3) 405 (4)  8:55

20 Fo.c0e DWATVT ARDT WBREIT FF NS wEEng nomeeds 3:4 2

TMeTT & 1REREE FPFO 2R, WPTT Fo.Q0e BR[EO?

(1) 768 (2) 384

(3) 192 4) 96

2WOTD RFIB % PR WY 68 DY wh BonwwEn B 92 BN

UPOINETT BFFTYOD 2830, BN T, :?

(1) 360 2) 280

(3) 153 4) 117
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Q.74 and 75 Directions :

In a school, there are 50 students on roll in each of Std. V to Std. VIIL
Below given joint bar diagram is representing attendance of the students
Standardwise. Observe the graph and answer the questions.

[ B

Scale : on Y -axis
1 cm. =2 boys / girls

Y-axis |

Boys Girls

SR

N5
o DN A D

— N N

,,,,,,,,,,

—_—

—_—

:
—_—

NS e Niillo o i« o i \ S JEN i e )

Presentee (attendance)

UL

A
\

X1S

S

NA
s
1

o

Fifth = | Sixth | Seventh |Eighth
N : Standard

Y
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B3 74 3y 75 S FesmN Aews:
2,000 ZSONYOD STFeB @B 8F0H oo Fesgosd, 50 BB, IINT
HReRFoyPRSNTY, QoNE NSOTTTON PVTISODT, ERCOTONT ©TT JOFFH =R&

BN, WRRO.

EE ) e e I M S
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74. By what percentage the present girl’s attendance is more than the present boy’s

attendance?
(1) 10 2 2
(3) 20 4) 2.5
=
W»é 75. By considering attendance of both boy’s and girl’s, which standard has the

least attendance?
(1) Eighth (2) Seventh
(3) Fifth (4) Sixth

SPACE FOR ROUGH WORK
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74.

7S.

8F0 WRFTY, BIBRTNOZ BOBOINCIT emw%% @ AR, éa:gsﬁ AT.
(1) 10 2) 2
(3) 20 4) 2.5

TOBNTD T03Y TOTONCIT 2830, wa’zg) JRCBTONR C3NT BRFT mwsg) 5 Mé.r%
FRW V.

(1) 8¢ (2) T7se
(3) 53¢ 4) 63¢
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